oot

oo og

od24080 24 [0






010 ooodgbbbod
1 OOODO ..

OO000000000000 .. ... e s e e s e
3 OO00000000 ... e e e e s e e e e
OO0 .. e e
OO0000 ... e e e e
Bayes OO0 . . . . e
Markov DI . . . . 0 o o o e

20 o0oogd

I

ug3fb oood
1 I
I

© 0o 0o Co O ot wt Ot

— = e e
-~ Ot Ot N N O



040

OOO0O0OO .. s e e e e e e e e 35
OOO0O0O0 ... e e e e e s e e e 36
OOO0 .. s s e s e e 37
OOO0 .. s e e e e e e 37
OOO00O .. s s s s s e e 38
OO0O0O00 . ... e e e 44
OO00000 . ... e e e s e 44
Notes . . . . . e 46
ooooooooo 47
ODO0O000000000 ... e e e e e e e 47
O0000000000 ... e e e e e e e e 47
OOO00O000 ... .. e e e e e e e e e 47
0000 (Wallis) OO0 .. .00 oo e e 49
OOO0 .. s e e e e e e 50
200000000000 . .. e 51
300000000000 ... e 52



10 oottddood

gbbogbuogbobooobooobboobbuoobbooobooobooann
000000000000 b00O00bO0DO00O0bO0ObODbODOo0ObDOoDOobOOO Car and
GoatDU DO OODOOOODOOUODOODOOOOOOOOODLOUODOODOODODOO
godoog3sboobobbbbbodoooooooobobbbbbobobbbbbobbbt
gbbuogbbodgbboobbuoobbuooobodgbbuoobboooboodgbobo
gbobodgbobuogbboooboboobboooodboooboobboobbobbo
gogbbbuooogbobbbuoooobbboooobooooobbuooooboboo
gogbbobbooooogoobbooooobbboooobbboooooboboboon
ggbbobooogbooboooonobg

0000000000000000O0O0 1/200000000000000O00O 2/30
gbbgboboobbuogobuooobuoobobuobooboobbuoobboobbbo
gbobgobooobbooobboobobuooobooobooobbooobboobobo
0000 2/3000000

1. oo

goboobooboooboobooooooooboooboooobooobboOoDnaeDO
gogobooboodd

goon

00 1.1.Q00000000000000 FOODODDODOOOOOOO o-000 (o-field)
goon

(1) 0, Qe F.

(2) Ae F= A F

(3) A€ Fon=12,... = (JA, eF
n=1
00 Q0 o-000 FOOODOOODO (Q,]:)DDDDD Oooooooooog s o
O00000000000000 «-00000000000000 Borel o-000 (DD
0 »~-0000000000000)000000 B(S)0000(S,B(S))0000000
OO0SO00o00o0oo0oo0oo0oooooboe-000O000 B(S)DDDDS:R,C,Rd
goooooooooooo
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oo 1.2. FO o-00000O00OOO0O0ODOO0ODOOODOO

(1) A,BE F = A\B€ F.

(2) ApeF,n=12... = (4. €F

n=1

00 ()0 A\B=AnB:OOOOO0O
()0 0000

A;eﬁnzlﬁwnzi-GAgef::>UjAacef
n=1

n=1

000 de Morgan OO QOOOO
o @] c o o @]
(U4) =N =N 4,
n=1
O000o0oooooogo O

goon

good e-o0oboobooboobuoobuoobooboobooboobob PO
ggoobobbooooon

00 1.3. 0000 (Q,7) 0000 PO P(Q)=100000000000 (probability
measure) 0000 000000000000000

(1) P: F —[0,1], P(Q) = 1.

(2) A€ F,n=1,2,... 00000 (4,NA4;=0,i#j) 000000

P(n@l An) — i P(A,) (1.1)

oooooo
00000000 (Q,7,P) 00000 (probability space) 0000

QUU0000D0000000 (samplespace) 00 00Q 000 wOO0OO0OO (elementary
event) DO OO0 (sample) DOOOFOO00 ADODO (event) DDOO00O0D0OO A°=0Q\A
0000 (complementary event) 0000 ANBOOODOD0DAUBOOOOOPOOOOO
ERERN
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U111 00000gogooo
gogbbobuooggooboooooboo

Q=1{1,2,...,6}" > w=(w,wa,...).

w,01,2,...,60000000-,0000000000000 n,7,...,7, 0000
1
P(wlznl,w2:772,...,wn:77n):6—n
0000000oobOoooO s-00000Db000O0000000DO0ODOKolmogorov
Jdododoodoogooooobooooogn

00 14. 0000 (QF,P)ODO00O0O0OOOOOOOOOO
(1) AC B = P(B\ A) = P(B) — P(A).
(2) P(A9) =1-P(4)

(3) AC B = P(A) < P(B).
(@DDDAﬂeﬁn:LLnDDDF(GAagiiﬂA

(5) Ant A (e, A, C A Coor, A=, A,) DOOD lim P(A,) = P(A).

n—0o0

(6) Ap L A (iee, Ay DA Do, A=, Ay) OO0 D lim P(A,) = P(A).

n—0o0
00 (1) B=A+ B\ A (disjoint union) D000 00O
A=Q\AD PQ)=1000000
() 0000000000000
Bi=A,B,=A,\U5 A4 (n=2,3,..)0000B, 000000

ggbboooogoboo

(UA ) (i B-) - iP(BZ—) < ZP(AZ.)_

000000000000
(5)0

PA) = P(A) + 3 P(dger\ A,

k=n

00000 3°°, P(A4\A,) —»00000000000000000
(6)0 de Morgan 000005 00000000 0
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0 15. 0000 (QF,P)O000O0O0OOOOOOODOO

U)Pm@:mn:Lz“.DDDPUjAQZO

n=1
@)Pm@:Ln:Lz“.DDDPO%AQ:1
n=1

00 ()0 00140 (4)00000000
(2)0 (1) 0000 de Morgan 0000000 0

2. OO0OO

goon

00 2.1. (Q,F,P)000000 (58 000000000Q00 S00 F/80000
X:Q0—-S$000000000000 X0 F/SO0000000000000 BesSOO
DO0X'(B)={w;X(w)eB}eFOOOOOOOOOOD

00000 SO0000000000000000000S=B(S) 000000 S=RO
000XO000O0000S=CcO00000000000S=R¢ 000040000000
gogd

0o

00 2.2.(0000000) X0O(58)-00000000000(s,8)0000000
0000 PoX ' (OO (PoX Y)B)=P[X Y(B), Ee€s, 000000 (58 000
00000 X00O0000o0pPX¥O0O0000

00 23.00000 (5,8§) 0000000000 X,Y (DODODO0OooDoooooooo
0000000000)0000PYX=PY00000000X0YOOOOOOO (OO0
ooo00)oooo

xLy p0ooo XAy
ooooo

00 24. (0000) XOOOOOOOPYO00ROOOOOOOOF(z)=P(X <
z) = PX((—00,2]), € R,000000ROO00 FO XO0O0OO0OO0OO0O00O0O

0000 FOOOOODODOOOOO lim F(x)=0, lim F(z)=1000000000
T—>00

T—r—00

gogboboboogoobobbooooboboobbbooooobooon
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ERERE
0000000 XOO0OO0OO pX]0000000000000ooooo

:AX@PW

0000000000000000000000 PO0OOOOOOOOOOOOOO0OO
0oooooo
X00000000D0000000 Qo000 Q=UY, % (QxeF)DDOODO

gopooggoo
/X(w)P(dw):ZakP(Qk)
L k=1
0000000000000 Xooooooooo

X(w)=lim X, (w), Xp(w)<X,(w), n=1,2,...

n—o0

gopooggoodg
/X —tim [ X, () P(dw)

n—o0 o)

00000000 {X,} 0000000000000 0000O0ODO X0 POODODOOOO
gooobubXx,oboon

n2™

Nw) =Y %1,% (@) + nlr (w) (2.1)

gobooogod

k—1 k
—< _
o _X(w)<2n

F, ={w; X(w) > n}

Er = {w; b, ok=1,2,...,n2",

gogoboood

n2™

/QX(w)P(dw) :JL%IO{Zkz—nlp(le <x< 2ﬁ)+np(x >n)}

googobuooboob X O pPO0ODOODOODOODOO
X0O0O0OOoOoOoOo |X|ooboooooooooooo

/X(w) (dw) /X dw)—/X(w)P o

000000000 X4.=XV0,X_ =(-X)v0.00OOODOOO LY(P)DOOOOO
p>10000 |XPOOOODODOO X0Op-OOOODOODOOOOODOODOOO LP(P) O
ggd
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00 25 XeL'(P) 00O
BIX] = / X (w) P(dw) (2.2)
Q
0 X0OO0O0 (00)0000
gopoooobooogooooooogooogoog

00 26. X,Y e€LY(P),o, ;e ROODO

X>0=— E[X]>0, 00O
FElaX +pY]|=aFE[X|+ BE]Y], 00O

ggoooo

00 2.7 (0000)X 0O (5,8 000000000000000 f0 (5,8 00000
0000000000000 f(X)000 PO0O0OOOOOOOf(z)0 SO PXO0O
0000000000000000

E[f(X)] = / F(X () P(dw) = / F ()P (dx). (2.3)

0000000 PAO00O00OOOO0

00 fOO0O0OOOOOODODOO
gobooo

ERERE

k=1 k=1 s

gobbobuooogbobogo 0

goooooooboooog

00 2.8. X"e[Y(P)000 E[X"0 00000000000
X2eLY(P)DOODO

V(X) = B[(X - E[X])*] = E[X?] - E[X]’ (2.4)

0 XO0O0O0OOOOe(X)=,/V(X)000000000
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ggbobbooooobobbooooobbbooooonbo

00 2.9. (Chebyshey 0000) X € LP(P) (p>1) 0000000000

p(lx|> Ky < 221 (2.5)
00 XeXP)00O0O
P<|X;m|2k>§% (2.6)

000000000 mO000s000000000
00 |X]P>kPlyxs, 000000
E[IXI] = E[k"Lqx>m] = K P{IX] 2 k})

00 (25) 00000

00
0" = B[[X — mf’
Z E[O’QkQI{‘X_m‘zZUzkz}]
= o’K*P{|X —m|* > 0%k*})
— 02k2p<M > k)
o
000000 (26) 0000 O

gbobbooboooboobobobooboboboXxX booooobobooboooo
ERERE

f(@) = E[(X — 2)7].
00000000000000m=E[X]000

f@)=E[(X —m+m—2)"]=E[(X —m)*+2(X —m)(x —m) + (m — 2)?
=V(X)+ (m—2)?

O000:z=m000000 V(X)OOODDODDOOOOOOf(x) 0O XOODOOOODOOOO
ggd200d00d0obobodooooobob200bbboooooboboboboooon
gbobogbbuogbboodgbbgo20bbuogbbuogoboobobooobooon
goon
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3. Uooooobooo
U

00

00 3.1.20000 A, Be FOOO <% P(AN B) = P(A)P(B).

00 3.2. 200 sub o-fields /1, F, CFOODO

& VA € Fi, VB € Fy: P(ANB) = P(A)P(B).

Ae FO000AQOODDDOO o-0000 0o(A) 0000 OOOO
o(A) = {0,9, A, A°}.
00D00000000A, Be FODOO
A, BOOO <= 0(A),c(B)0DOO
D0000000000000000 A, BOODDOOODOOP(A“NB) =P(A)P(B) O
P(ANB)+ P(A°NB) = P(B)
gooog
P(A°NB)=P(B)— P(ANB)=P(B)— P(A)P(B) = P(B)(1 — P(A)) = P(B)P(A°)
gooooooon

00 3.3. n 00 sub o-fields Fy, F»,...,F, CFOODO
A v, e Fi=1,2....n: P(ﬁAi) :ﬁP(Ai).
i=1 i=1
00 3.1. o(4), o(B), o(C) DODDDDODA, B,CO00O0OOO0O0
P(ANBNC) = P(A)P(B)P(C)
000000004, B,CO0000O0000O00OCO
00 3.4. ofields L, C F, A e ADDD<S 0000000 subo-fields 0000
00 35. X0 (5,8)00000000000000 o000
o(X)={A=X"'B); B¢ S}

0 XO000O0O0O0 .-0000000
000000 {X\;A€cAl 0000000000000 {o(X,);AeA} 00000
000000000

gogbobobbooooobbooooobbobodoo
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00 3.6. X,YOOOOOOOOOOOX,YelL(P)000 XY € LY(P)O

E[XY] = E[X|E[Y] (3.1)
000000

00 X)YOOOooOoooooooQooo Q=),0;0 Q:ZjQ;-DDDDDD
X:Zailﬂi’ Y:Zb]]'ﬂ;
i J

ggbobobooooon

=F |:Z CLZ'bj ]'QzﬂQ;]
Y]

E[XY] = EKZ ai19i> <; bjhz;)]

)]
= a;ib () P()
2%

— Z a; P () Z b P(SY))
_ E[X]E[Y].

000 X0y 0OOOOoOooO X, Y%, 0 (21)00000000000 o(X),s(Y) O
00000000000000000000000000000 0

D000000000000000000000000000000000000000
00 3.7. X, X,,..., X, 0000000

V(e Xy + -+ a,X,) = aiV(X)) + -+ a2V (X,) (3.2)
oooood

00 m;0 X,00000000

V(e Xy + -+ a,X,) = E[(a, X1 + -+ + 0, X,, —aymy — - — aymy)?]

= E[(Z a;(X; — mj))Z]

= Z%%’E[(Xi — mi)(Xj - mj)]



14 010 0O0O00O0Ooooo
=Y aB[(X; —m)’ |+ aia; Bl(X; — mi) (X; —m;)]
i i#j
= ZCL?V(XZ) + ZaiajE[Xi — mZ]E[X] — mj]

iF]

ggobobboooooooo 0

X0 (5,5)-000000Y0 (5,8)-00000000PY, PY 000000000
0D00X,Y 000000000 (X,Y) 0 (S x5,8 x&)-000000000000
S xS0 AxB, 00000000000 000000000000 PN OOOOX
0 YOOOOOOOAEeS,BeS, 000

PXY)(Ax B)=P(X €AY € B)=P(X € A)P(Y € B) = PX(A)P"(B)

00000 O0PYY)(AxB)=PX(A)PY(B)OODODDOD A, BODODOODDOOOOOOOOO
PXY) O PX PYODOOODOOODOPYxPY 0000000000000 O000DO0
O0o000DO000oooo0Og

00 ROODODOOD p,»0000000000000 A0

AA) = /R WA — 2)w(dz), A c B(RY

gooobooobouo A0 pbvOOODOOOD wxv OOOOOOOOODOODOODO
0000000000000000000000 R-O0000 X,YOOOoooooog g,
vy 0O00000X+Y DOOOD pwxryOO000oonoooboooO

P(X+YeA)= / La(z + y)p(dx)v(dy)

Rd xRd

_ / ) / ale + y)u(da)
= /Rd (A = y)v(dy)

0Doooooooo
0000000 f,¢00000000000

£ glx) = / " - y)gly) dy

O0b0ooooboolD X, Yyoouooooooboooog f,gODOOOOUODOOfxg
O X+YOOOoOooooooooooooooo

E[F(X +Y)] = / / Fz + )/ (2)g(y) dr dy



3. gbboboooan

d(z,y) % % 11
o(u,v) % gg 0 1
dx dy = (z.9) du dv = du dv
(u, v)
// fu—v)g(v)dudv
— [ w7+ glu) du.
gooog
00 3.8. A, BEF,P(B) #0000
__ P(ANnDB)
P(A|B) := PD)

000 BOODOD AQOOOOODOOO

0o 3.9.
P(An B)= P(A|B)P(B)
ogoooo
A, BOOO <« P(A|B)=P(A)
ooog
Bayes 0 0 O

00 3.10. (Bayes 00O0O)
4;,j=1,...,n0 Y A;=Q000000000000
7=1
P(A;)P(B|A)

PIE) = o P PBIAY

gogoooo

00
P(B) =Y P(BN4) =Y P(BIA)P(4))
gooooooooooono
P(4i|B)P(B) = P(B|A,)P(A)

000000000000000O00000 PANB)OOOOO

15

(3.4)

(3.5)
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O0000O00o0000oo00ooO0ooboooooooOO0obOoboboooboOo A;00D00D
00000000000 A 0000 BOOOOOOO PB|A4)OO0ODOOOOOOOO
00000000000 A;,00000 P(A)ODODOOODODOOOOOODOOOOOOOO
0000 BOOUOOOOODOODO A, 00000 P(A4/B)OOODDOOODDODOOOOOO
gbobogobogoboobbooboboobbodobboobbuoobbooboboo
goboodgo

0 3.1.(300000000)
a,b,c3000000001000020000000000000003000000 1
000000000 a0000000b,¢000000000000000000000
0D0000000000bO0000000000000a0 a,¢200000000000
000000000000000 00 10000000000000000000
0000000 Bayes 1000000000000A4,B,CO0000 a,b,c0000
0D0000000GO0000bO0O0O00000000000000000000 GC B°
0000000 bOOOOOOOOOLOOOO0O0O000000000000000 b,ec
0000000000c¢00000000000000000)000 4, B,CO00000

0 AuBUC=Q000000000000(@QO0O)O
1
P(GlA) =35, PGIB) =0, P(GI0)=1.

000000 P(A|G)DOO0OD0Bayes 000 O0O0O0OOOODODOOOOO

_ P(GlA)P(A) _ _ !
Hmm‘jm%@mm+meﬁuﬂ+mmmey_;m+1_§

N[

ERERN aDDDDDDDDDDDDDDDD%DDDDDDDDDDDDDDDDDD a
00000000000000000 ¢c000000O0O0O0P(G|IC)=1000

P(G|C)P(C) 12
(GIA)P(A)+ P(G|B)P(B) + P(GIC)P(C)  1+0+1 3

PCIG) =

gbbubtudcebboooboon %DDDDDDDDDDDCDDDDDDDDDDDD

0 3.2.(000)

gobobobuoogobooo
ERERN 99%

oooo 2%

gbbogbbuogobbooobooobboogbbooboooboooboboobobo
ggobobbooogobobooooobooo

ggiloobblgooooooooooobbbboobobbbobbbboobobobbn
gobbobuoogoboooo
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gogoboood

99 L2 1
P(PIO) = 155 P(PICY) = 155 P(©) = 15

gogobooboodd

P(PIC)P(C)
(PIC)P(C) + P(P|C*)P(C*)

99 1
100 1000 99

P(CIP) = 3

— 99 1 2 999
100 X Too0 + 100 X 1000 2097

=0.04721 ...

Markov O O

0 33. KUOObbuoooboooobioboooobuooobbuooobuoooo oe
gogbgliobuoooobobbuooogbobboooobbboooobobobog o1bb
O00000n000000D00O0OO0O0O0OO pn)000000Op(pn) 00000000

(000000000000 000000000000000000000000000
ooooooog)

00000000000000000000 {X,} 0000000

1, 00000
X, =
2, 00000

)

godoobodnb0ODb0O0O0O0O0O0O0O0OOODOn+1000000000O0OODODODODO
oogg

0000000000000
p(1,1) p(1,2)\ (0.1 0.6
p(2,1) p2,2) ) \ 0.9 04

gogbbobooooobuoooobobuooooobobboooooobooo

oooo
pn+1)=P(Xps1 =1)=P(Xps1 =1, X, = 1)+ P(Xps1 = 1, X, = 2)
= P(Xpy1 = 1X, = )P(X, = 1) + P(Xps1 = 1|X, = 2)P(X,, = 2)
=p(1,)p(n) +p(1,2)(1 = p(n)) = (p(1,1) — p(1,2))p(n) + p(1,2).

000
z = (p(1,1) — p(1,2))z +p(1,2)



18 010 000000000
000 z=x(1) 0000
m(1) = (p(1,1) = p(1,2))7 (1) + p(1, 2). (3.7)
000
pin+1) —x(1) = (p(1,1) = p(1,2))(p(n) — m(1)) = --- = (p(1, 1) — p(1,2))"(p(1) — 7(1)).
000 |p(1,1)—p(1,2)] <1 00000
lim p(n + 1) = 7(1).

n—o0

000000000000
00]00000000000000000 pn+1),¢n+1)0 p(n), ¢(n) 0000

0on
(P11 p(12)
A‘( (2.1) p(2,2 )

ggbobobouooggooogo

goon

(z —p(1,1))(z — p(2,2)) — p(1,2)p(2,1) =0
2? — (p(1,1) 4+ p(2,2))z + p(1,1)p(2,2) — p(1,2)p(2,1) = 0
s "2 \

1—p(1,2) 1—p(1,2) 1—p(1,1)
z? — (p(1,1) — p(1,2) + 1)z + p(1,1)(1 — p(1,2)) — p(1,2)(1 — ﬂlD 0
22 — (p(1,1) = p(1,2) + D +p(1,1) — p(1,2) =

(z =1)(z —p(1,1) +p(1,2)) =0
z=1,p(1,1) — p(1,2).

000 ADDDODO000000000 x=100000000000 (ﬂ)>DDDD
m
m(1)+x(2)=10000000000

(F0)= (a0 02) (70 . oop () ooooooas
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00
m(1) = p(1, D)7 (1) + p(1,2)7(2) = p(1, )7 (1) + p(1,2)(1 = 7(1))
= (p(1,1) = p(1,2))7(1) + p(1,2).
000 () 0000000000000000000 (+) 0000000 (0000)00
000000000000z =p(1,1)—p(1,2) 00000000000 <;>DDD(D
000000000000)020000000000000000

()=o) ()
goooobboooo

(ot )= () = (T ) oo ()

:a< 28 ) +b(p(1,1) — p(1,2))n< g )

i () =o( ) )

000 pn)+q¢n)=1,7(1)+72)=100 a=10000
0000000000000000000000000000000000000 200
000000000000000000

000 37)00000000000000000000#(1)=04000000

ERERE

HEN

1. 000300000000000000000000000000000000000
0000O0nO0O00000C0O00C0O0O0C0CO000100000000000000
9. 00000000000 ABCDEFOOOCOOO A
00 ADDODDODOOOOODOO0O0ODO 1/4
0000000000000000000000
00 1000B,C, D, EDO0CODOOOOOO D
00 1/400000000000200000
000000000000000000000
000000000 »000000 FOOOO
0oooooog P
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20 4Oood

gobobooogoobodn

1. OOO00

ROOO p00000D00000DC00000DO00O {e}CROOOOp, 0> ,p;=10
0000000000p=>,pd,, 0O0O0DO0OO0ODO (6,000 «O00O00O DiracOO) 0O
000000000000000000000QUO00000 Q=U2, 9 0 P(Q;) =p; O
0000000000X=Y2,ale, 0000000000000
2000

2000 B(n,p) 0000000000 n=1,2,...,0<p<1000

j{: Cip (1 = p)"*65,  wCh = (Z) ::%R%?£757 (1.1)

0000000000~ +1000 k=0,1,...,n00000000000000000
Crpf(l—p) k0000

0 X,Xy,...0 P(X;=1)=p, P(X;=0)=1-p0000000000000000
00000 0i.i.d. = independent identically distributed 0 0 0000000000000

Sp=Xi 4+ X, (1.2)

00002000 Bn,p) 000DODD0O0O0OOODOO pO0D00OO0O0OOOOOOOOOO

O00,00000000C00O0O0OD0OO0OO00OOOODODOO B(n,p)DOODOODOOOOO

0000000 (Bernoulli) 00000000000 Xy, X,,... 00000000000
000 np, 000 np(l—p) 0000000000 OOOOO2000

(x 4+ y)" ZCkxy

Uzgooog
n(x+y)" Zk CrpattynF (1.3)

DDDx:ny:I—pDDDDDDpDDDDD

np = Zk Cep*(1—p kak (1.4)



22 g20 0000

00000000000 (1.3) 00000000
n(n —1)(z+ y)" Zk (k — 1), Cpat=2ynk (1.5)

000 z=p,y=1-p000000 p?P00000O

n

n(n—1)p* = k(k—1),Crp"(1 - p Zk —Vpe = E[S,(S, —1)]. (1.6

k=0

00 V(S,) O

V(S,) = E[S?] — E[S,)> = E[S,(S, — 1)] + E[S,] — E[S,]?
=n(n —1)p* + np — (np)* = —np® + np = np(1 — p)
goooog E[Sn(sn—l)]DDDDDDDDDDDDDDDDDDDDDDDDDDDD
EX(X-1)---(X-n)] 000000000
0000000 (1.3)000000000000000E[X,]=p, E[X2]=p00000
E[S,] =nE[X ] =np
V[Sa] = nV[X1] = n(p —p?) = np(1 — p).
gogdn
0000 (geometric distribution) G(p) 0000000 0<p<1 00000
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gbbodgbbugbbuogbuogboobbbobboobboobboobooboob
gogbboboooooboboooooboboobooobobo

1 - 1 -
ERERE —p,DDD —2pDDDDDDDDDDDDDDDXDDDDDDDDDDD
D

b
ggbobobooogoboo

00000
= kat". (1.8)
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00000 000000000000 00000000000000000000000
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00000 XO0OOODO Fz)=P(X<2)0OOOOOOOOOXOOOOOOOOO
0000000000 plx) 000000
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—00
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ggbobobooogboo
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0000 Borel U0 BOOOOOOOOOOOO (21)0000O0DO0DODOOODOOODOO
ERERE
gbodod pbbOdO0b0O XODOOoobooboooooooooo

Elg(x) = [ " glo)pla) de (2.2)

gobobobbooodub gbdogobbbuoooonbobobl o<y <o <z, U
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Elg(X)] = E[Z ;1 (z; s ;) (X)]

= ZajP(X € (zj-1,2])

gogbobbbooooobbobooooobobobodgd
gogbobboogoobbobooooobobood
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o000 U(a,b),a<bO0000 [a, ) 000000 f(x):—b goboobooodan
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21 00
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20000

200000000000000000 X,YD20000 (X,Y)OOoOOoooooo
ooooo
E[X]=mi, V(X)=0}; E[Y]=my V(V)=0]

00000000 Cov(X,Y) O

Cov(X,Y) = E[(X — m1)(Y — my)] = E[XY] — mims (3.1)
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X - Y —
0000O0Cw(X,Y)D 0, 000000000X,Y 0000 Z, = g, =
02

1
0000000000 (correlation coefficient) D00 OCorr(X,Y) 000000 pOO0O0O0
Cov(X,Y
p=_Corr(X,Y) = wtY) o2 (3.2)
VXO)V(Y) o102
p>000000O0O0OOp< 0000000 UUp=000000000000
00 3.1.2000000 X,YOOOO m;,mO000 o2, 02000000 pO000OO
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(1) [pl < 1.

(2) p=+10000000000 X,YOOOOOOODOOODOOOODOOOOO

Y — X -
M2 _ 42 7™M gppo) (3.3)
02 01

(3) X, YOIUOUOODO U000 Cw(X,Y)=0000O0OOOO p=00000
X—ml,ZQZY—mg
g1 09

0 < EW?|=E[Z] —2tZ\Zy + Z3] = 1 — 2pt + t*.

oo (1) 7z, = DoowW=2—-tZ0000

0000000 ¢+0000000000000 D=4p2—4<000000 |p <1
2) p=+100000000 t+=+1000 W=0000 (33)000000
(3) X,y Oooooooo

Cov(X,Y) =FE[(X —my)(Y —my)] = E[X —my|E[Y —my] =0
ud p=00000 U

2000000 X, YOoouoooyooo XxXooo ?ZV(X)DDDDDDDDDDD
YO XOOOOOoooboooobooo
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00000 (predictionerror) 0000000000000 0O0OODOOOOOOOO
X0Ooooo }A/:a+bXDDDDDDDDDD(linearregression)DDDDDDDDD
gogbbobbooooobobbooooobbboogad

00 3.2.2000000 X,YOOOO my,mO000 0262000000 pO000O
00000000 Y =a+bX O
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01 01
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E[(Y —a—bX)?]
= E[{(Y —my) — b(X —my) + (my — a —bmy)}?]
= E[(Y —mg)? = 2b(Y — my)(X —my) +0*(X —my)?® + (my — a — bm,y)?]

= 05 — 2bpooy + b0} + (Mg — a — bm;)?

2
= U%(b — p%) +O'§(1 — p2) + (m2 —a— bm1)2.
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01
02
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1000000 (21)000000000000O0OO
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nOUO0000000DO0bO000obooobooobuodbuodnbboobbOoOon
1 1

NI exp{ 5@ —m, v a—m) } (3.6)
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a<b,c>00000
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O00c>1000000000100000000000 Dy, O
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